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HENRY PARK PRIMARY SCHOOL
2024 END OF YEAR EXAMINATION

MATHEMATICS
PRIMARY 3

() Parenfe Slgnature:Name:

Class: Primary 3

Duration of Paper: t h 15 min

10Section A (MCO)

27Sec'tio n B (OPen-Ended)

13Section G (Problem Sums)

50Total
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$ectlgn A: Multlple Gholce Quesllo[s (10 marks]
Questions I to 6 cany 1 mark each. Questions 7lo 8 @try 2 marks each.
For each quesflon, four opUons are given, One of them ls the @nedanswer.
Make your ctrolce (1,2.3 or 4) and shade your ansrwer ln the Optlcal Answer Sheet,

1. ln 6893, the digit I stands for

(1)

(2)

(3)

(41

I
80

800

8000

ones

tens

hundreds

thousands

2. ln 1432, the digit 1 is in the place,

(1)

(2')

(3)

(4)

()

()
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3. Flnd the value 
"; 

. l

4

7

6
1

4
ia
6
fr

(1)

(21

(3)

(4)

2l 23A mt

2 0 3@ml

413Aml

5t

(1)

(2)

(3)

(4)

4. Flnd the totat volume of water ln this set of beakers'

()

()
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5. 2h5mln= mln

(1)

(z',)

(3)

(4)

25

125

(

205

250 )

6. \ /hich of tre following letters has parallel lines?

(1)

l2l

(3)

(4)

L

o

V

E

/ \ t I
I \ \ I
\ /

\ \/ t
\ / V

()
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7. Sally wants to pack 40 oranges lnto bags, Each bag can hold at most 6 oranges.

Wtrit ls the least number of bags Sally needs?

(1)

(2)

(3)

(4)

o

7

34

/m

8. Which of the following fractlons ls nearest to 1 whole?

()

()

5

10

10

10

(1)

(2)

(3)

(4)

1

z

3

i-0

4
6

7

10
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Sectlon B: Open-Ended Questlons (27 marksl
Questons I to 17 cany 1 mark each. Show your wo*lng clearly and wrlte your answers ln lhs
blanks provided. For questions which require unlts, glve your answers ln the unlts stated.

g. Write elght thousand, three hundred and nine ln numerals. Do not write
ln thls spaco

Ans:

10. Anange the numbers in lncreasing order.

9461, 6857, 6535, 9716

Ans:

11. Completethenumberpattem.

432A,4310,4300, 429A,4270

Ans:
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12. 6km75m=

Ans:

13. Flnd the perlmeter of the shaded ffgure below.

Do notwrlla
ln thli space

1cme
1cmt

Ans:

Eugene started exerdslng atthe time shown on the clock
\Alhat tirne did he start exercising?

Ans:

cm

14.
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?15. $3.40 +$2.20+ = $10

What ls lhe mlsslng value?

16. Study the figure below. Which of these angles are acute angles?

Ans:

Do not wrlte
ln lhls space
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17

Number

Students

The bar graph below shows the number of Prlmary 3 students ln four

classes who went fur the SwlmSafer programme afler school.

SwlmSafer Programme

2A

18

16

14

12

10

I
6

4

2
t

0
3A 3B 3C 3D

Primary 3 Classes

How many more girls went for the SwimSafer programme in 3C than in 38?

Ans:

Do notwrite
ln lhls space

of
ffiaov"

!n,n"
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Questions 18 to 26 catry 2 ma*s each.
Show your worklng clearly and wrlte your answars ln the blanks provlded. For questions rryhlctr

requlre unlts, glve your answers ln the unlts stated.

18. (a) Flnd the surn of 376 and 825

Ans: (a)

(b) Find the difference between 781 and 1000

Ans: {b)

19. There are 936 applas ln a box. There are 6 tims as many apples as
pears. How many apples and pears are there altogether ln the box?

Ans:

Do notwrlls
In thls spaca
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20. (a) Flnd the product of 750 and I

Ans: (a)

(b) Flnd the quotlent and remalnder when 649 + g

Ans: (b)

21. Find the values of A and B-

69
48

Ans: f'=

B=

Do notwrlto
ln thls epace

R

A
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22.

23.

A plece of metal wlre was bent lnto the shape of a square. Each slde of
the square was g cm. The same plece of wire was hen benl lnto the
shape of a rec[angle. The length of the reclangle was 12 cm. Whal was
the breadth of the rec'tangle?

12crr

9cm

Ans: cm

Ans:

Do nol wrlte
ln lhls spac€

?

Anand spent 2 h 30 rnin on his project. He stopped working on his proJect
at 10 2o as shown on his watch. His watch was 1s rnin slow. whatwal
the correct time he started working on his projecp Give your ansfler in the
24*,our clock.
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24.

25.

At the bookshop, erasers were sold for 55f each. Nora had 3 twodollar
notes ln her wallet. How much money would Nora have left after buylng
10 such erasers?

Ans:

Mass of
newspaper

(kg)

34 38 3C 3D 3E

Class

Each statement below is either'True' or'False'. For each statement, put a
tick (/) to indicate your answer.

Do notwrlle
ln thls epace

70

60

50

40

30

20

10

0

True False

a) 3C collected three times the mass of newspapers 3A
collected

b) 38 collected 20 kg less newspapers than 3D.

c) The total
3D is the

mass of newspapers collected by 3A and
same as the mass collected bY 38.
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recycling by. students ln five Primary 3 classes.



26. The table below shows the numberof paper stars Jenny mads each day'

On the ffrstday, she made 10 paperstars. Each day, she makes twlce as

many paper stars as she dld oh tire prevlous day. On whlch daywould
she make 320 paper stars?

Do not wrlte
ln lhls spaoo

Day Number of Paper Stars

Day 1 10

Day 2 20

Day 3 40

Ans: Day
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}.IAME:

27

( ) CLASS: Prlmary ? 

-

not
ln lhls space

121

tzl

Sectlon C: Problem Sums (13 marksl
ng clearly and wrlte.your w-ord statements to lndlcale

y;ild;i;niwer-fnehumUei of marks avanaU6 F shown ln brackets I I at the end of eactt

queston or part-question.

Randy has 1289 blue and yellow pencils.

475 pencils are blue and the rest are yellow-

(a) Holr many yellow pendls does Randy have?

(b) Randy buys another 1256 blue penoils- 
.

iiili'fii blue pencils does he have in total?

Ans: (a)

Ans: (b)
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28. Mrs Tan had some bluebenles. She packed trem equally lnto 9 boxes and
found that she had 6009 of bluebenles lefl. Each box had720 g ot
bluebenles. What was the mass of blueberrles Mrs Tan had at first?
Give youransurer ln kllograms and grams.

Ans:

Do notwdta
ln lhls epaca
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29. At first, Vanessa had 758 cards, Whlle Gary had 1548 cards.
Vanessa hen bought some more cards.
ln the end, Gary had 125 fewer cards than Vanessa.
How many cards dld Vanessa buY?

Ans:

Do notwrite
ln ftls sPace
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30, Gina had 698 more beads than Liz. She gave 22Sbeadsto Llz. How many
more beads does Glna have than Llz ln the end?

Ans: l3I

END OF PAPER
Page i8

Do notwrite
ln lhls epece



SCHOOL
LEVEL
SUBJECT
TERM

CONTACT :

HENRY PARK PRIMARY SCHOOL
PRIMARY 3
MATH
2024 SA2

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8

3 4 2 1 2 4 2 3

Q9 8309
#tr

Q10 6535,6857,9461 ,97f6
Q11 4290

Q12 6075 m
imkwi*MW@*d&b&W&ffiffiffiW"

Q13 ffiM",tu ffi M % ffi WW#& WM ffi# ffiffi wrk'%
Q14 |birUm I il- r t t"tr 

-rrttr=rrr
Q15 $4.40
Q16 aandc
Q17 3

Q18 a)825+376=12A1
bX000 -781 = 219

Q19 1092
Q20 a)750x8=5000

b)72 R1

Q21 A=3
B=12

Q22 6cm ;# B* #*
Q23 08 0s ffi t's,e#ff
Q24 $o.so
Q25

ffiffi tfi[Tt$TpAPER.(om
Pg1
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Q26 Day 6
Q27 a)1289-475=814

b)l256+475=1731
Q28 72Ax 9 = 6480

6480+500=7080

= 7kg 809
Q29 1548 +125=1673

1673-758=915
Q30 225x2=450

698-454=248

Pg2


